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1. Choose the correct option ' 1x8=8

(a) lf A = {0,?.4,6 8} and B = {2' 6' 4' 0' 8}'

then

(t) A--B $i) A*B
(W A>B fiu) A<B

{b) The symbol used to denote null set is

0o $t) v
(iii) a $u) x
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(c) If n=2, the below polynomial function
f (xl = ao + atx + a2*2 I o3x3 + "' + enxn
will be known as

(y' constant function

(if linear function

(zzy' quadratic function

(iu) cubic function

(d) 4tro +5x2)2x3 =dx

(i) oox2 +Soxa

(u) 6Ox3 +50xa

(iO 6ox2 +50x3

(iu) zoxs +10x5

(e) The correct relationship among average
revenue (AR), marginal revenue (MR)
and elasticity of demand is

(i) ea= AR
AR-MR

(o ea= MR
AR -MR

Gaea= AR
MR-AR

(iu) e6 = MR
MR-AR
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A le*dx=
(i) e*

(iii) loge + c

(g) f,s*'a*=
(t) 134

(iii) 114

(u) e* +c

(iu) x+c

@ 124

(iu) 104

(h) A function is said to be continuous at
a point 76 = q if

(t) ]lfl "f(xlexist

(q fim /(x) exist ,.d 
l31 f@l = f(a)

(ttl) lim f(x) = f(d
(iui None of the above

2. Answer any four of the following : 4x4=16

(a) If A={3,7,5,91 and B={\3,6,7},
then find the union and intersection
of sets A and B.

(b) From the given total cost (TC) function,
find the average cost (AC), average
variable cost (AVC), average fixed cost
(AFC) and marginal cost (MC) :

t" =* e3 +Te2 +13e +237
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A te*dx=
(i) e*

(iii)loge+c

(s) f,s*'a*=
(t) 734

(io 114

(n) e* +c

(iu) x+c

@ 124

(iu) 1o4

2"

(h) A function is said to be continuous at
a point y=q if

(t) lim /(x)existx)a
(tt) lip^ /(x)exist and tim f(x) = f(alx-)a x)a
(iii) tim f(x) = f(alx-)a

/iui None of the above

Answer any four of the following : 4x4=16

(a) If a = {3, T, S,g} and B = {tr 3,6,2},
then find the union and iniersection
of sets A and B.

(b) From the given total cost (TC) function,
find the average cost (AC), average
variable cost (AVC), average lixed cost
(AFC) and marginat cost (MC) :

TC =l e3 +Te2 +13e +2373"
P23lt63 (Tum Ouer )



l4l

(c) The total revenue (R) of a firm per dayis a function of iis'aaify sells (e) :

R=2O+5e
The firm sells marimum S0 units ofoutput per day. What are domair, *jrange of the revenue function?

(d) Check whether the foltowing function

,=x2 -4x+4
(x-2)

is continuous at point x = 2.
(e) Calculate^the elasticity of supply of thefollowing function wt en pJce (p) = 10 :

S = -100 +2p
3. (a) /y' Given 

_A = {4, 5}, B = {3,6,2} and
C = {Z 3}. Verify the associative lawof set operations. 

4
/i/ Among. t?g coilege students, Zsstudents like to play cricket 

.and

65 students like io 
-ptay 

football.

::::?^:i:.il1,,Jfi :4,;kj*n}
students would like to play bothcricket and football? 

4
(iii) Define variables, constants andparameters with example. 3

Or
(b) $) In case of 3r{red pair (q U * @, 4unless a=b. Explain.
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(off
A = {4 b, q 4 x, A} Md B = tb 4 t gt
then find A_B aad, B_A. 4

/td/ Define the following urith
examples : 4
(1) Equivalent set
(2) Disjoint set
(3) Universal set
(4) Finite set

4. (a) (i) Draw. the graph of the foltowing
function , 3

g =lxl+2
/ifl Write short notes on constant

function and logarithmic function. 4
(iii) Find the sum of squares of first 9nafural numbers. 4

Or
(b) /y' Illustrate the concept of limit ofa function. Evaluati the limit ofthe function

,.* x2 -16
,ii * +{ 3+4=7

(ii) What do you understand bysequences and series? GivLexamples. 
4
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5. (a) (i) Find, the derivative of the following
function using product rule of
differentiation : 3

g = 19x2 -2)Bx + 1)

/ry' Consider the demand function
e = 500 _LOp. Compute the price
elasticity of demand when p = 30. 4

(iii) Given the total cost (C) function ofa firm as follows

C = 1000o +100e -Loe2 * ] O.

Find the level of output at which
marginal cost is equal to average
variable cost. 4

Or

(b) 1ry' A consumer has a following utility
function

U = f(Q) = aeb , where a>a; b <I
Show that the utility functiondisplay diminishing marginalutility. 4

fy' Given the consumption function
C=C(y =100 +O.6y, where y isincome. Find the marginal
propensit5r to consume (mpc) and
marginal propensity to save (mps). 3
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(iii) A firm has the following total
revenue (TR) and total cost (TC)

functions :

TR = 1200Q -2Q2
TC = Q3 -6L'25Q2 +1528'5Q+2000

Calculate the Profit maximizing
outPut and the maximum Profit' 4

6. (a) (i/ Evaluate : 3

[8e2**3 dx

(ii/ Derive the total cost function from
the given marginal cost function :

MC = zx2 -3Ji ++

when the total fixed cost is 200' 4

[a/ Find out the Point elasticitY
of demand from the following
marginal revenue function :

MR=20-O'2Q,whenQ=5 4

Or

(b) (l Find the consumption function

when MPC = 0'5 -: with aggregate

^lY
consumPtion 100 when income is

zero. 3

(ii/ Determine the increase in the

total revenue from the following
marginal revenue function when

sale increases from 8 to 12 : 4

MR = 30 -4Q
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(r, Find the consumer surplus from
the following demand function
when market price (p) is 12 I

e=J@-zn

7. (a) (t) Explain the role of differential
equation in economic applications.

(it) Examine the following market
model for stability :

Qa =L4-3P
O" =-lO+2P

# =aQo -Q"l

Or

/y' Solve the differential equation 4

p*eg=O when UQI=2dx

(O In reference to the following
differential equation, explain
a standard first-order linear
differential equation with constant
coeflicient and constant term :

dg.
- +u(xlg = u(xl
dx

What is a homogeneous
linear differential equation? Give
example. g
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